[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

Ratio

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixel CPENoMatR_step2_ttbar-phasel-newgeom
~0.05
—

L e

o E : . : : :
L R O S R SIS
> E : : : : :
D035 ---e--be oo RS § EECI-RLREES
‘O E H H H H H
E£0.03F ek ff e ot f RRSRREEE
[©] o : : : : :
K | Rt SIS N RS
0,025 -+t foeieerenene RS  IEERTRRRRS
0.015 -+ ffosdnereees Peoeeen e b
.01+t - freeeeo- Beeeeee S N R
0.005F -+t 1k gyt - oge B
E : : By "
R S R AT .'.”.*fi..
T E : : : : :
o 1:— ------- IR LR SRR S EEREEEEEEEE
1] P {9 A T 4 1 A
°%35—=30 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

208 6 -4 20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


